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Concept Lecture – 3 



A man cycles with a speed of 10 km/h and
reaches his office at 1 pm. However, when
he cycles with a speed of 15 km/h, he
reaches his office at 11 am. At what speed
should he cycle, so that he reaches his office
at 12 noon?
एक आदमी 10 ककमी/घटंा की गति से
साइककल चलािा है और दोपहर 1 बजे अपने
कार्ाालर् पह ंचिा है। हालांकक, जब वह 15
ककमी/घंटा की गति से साइककल चलािा है,
िो वह स बह 11 बजे अपने कार्ाालर् पह ंच
जािा है। उसे ककस गति से साइककल चलानी
चाहहए, िाकक वह दोपहर 12 बजे अपने
कार्ाालर् पह ंच जाए?
a) 12.5 km/h b) 12 km/h
c) 13 km/h d) 13.5 km/h
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Train A takes 1 hour more than train B to
travel a distance of 720km. Due to engine
trouble speed of train B falls by a third, so it
takes 3 hour more than train A to complete
the same journey? What is the speed of
train A ?
720 km द री िर् करने में टे्रन A को टे्रन B की
ि लना में 1 घंटा अधिक लगिा है इंजन में
समस्र्ा आने के कारण B की गति एक
तिहाई कम हो जािी है अंि उसी द री को िर्
करने में टे्रन b को टे्रन A की ि लना में 3 घंटे
अधिि लगिे है टै्रन A की चाल क्र्ा होगी?
a) 80 b) 90 c) 60 d) 70
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Train A takes 45 minutes more than Train B
to travel a distance of 450km. Due to engine
trouble speed of train B falls by a quarter, so
it takes 30 minutes more than train A to
complete the same journey. What is the
speed of train A
450km की द री िर् करने के ललए टे्रन a , टे्रन
b की ि लना में 45 लमनट अधिक समर् लेिी
है इंजन की खराबी के कारण टे्रन b की गति
एक चोथाई कम हो जािी है अंि उसी र्ात्रा
को परूा करने के ललए टे्रन a की ि लना में
30 लमनट अधिक समर् लेिी है टे्रन A की
गति क्र्ा है?
a) 90 b) 120 c) 100 d) 110
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A train approaches a tunnel AB. Inside the tunnel is a

cat located at a point that is
𝟑

𝟖
of the distance 𝑨𝑩

measured from the entrance A. When the train
whistles the cat runs. If the cat moves to the entrance
of the tunnel, A, the train catches the cat exactly at
the entrance. If the cat moves to the exit, B, the train
catches the cat at exactly the exit. Find the ratio of the
speed of the train and the cat.
एक रेलगाड़ी स रंग 𝑨𝑩 की िरफ बढ़ रही है| स रंग के
अन्दर एक बबल्ली है जो की प्रवेश द्वार A से स रंग की
लम्बाई का भाग जजिनी दरू है| अगर बबल्ली गाड़ी की
िरफ भागिी है िो गाड़ी उसे ठीक द्वार A पर लमलेगी
और अगर गाड़ी से दरू भागिी है िो ठीक द्वार B पर
लमलेगी| गाड़ी और बबल्ली की गति का अन पाि बिाओ:
a) 𝟑: 𝟏 b) 𝟒: 𝟏 c) 𝟓: 𝟏 d) 𝟐: 𝟏
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P and Q are 𝟐𝟕 𝒌𝒎 away. Two trains with
speeds of 𝟐𝟒 𝒌𝒎/𝒉 and 𝟏𝟖 𝒌𝒎/𝒉 respectively
start simultaneously from P and Q and travel in
the same direction. They meet at a point R
beyond Q. Distance𝑸𝑹 is
P और Q 𝟐𝟕 ककमी दरू हैं। 𝟐𝟒 ककमी / घंटा और
𝟏𝟖 ककमी / घंटा की गति वाली दो टे्रनें क्रमशः पी
और क्र्ू से एक साथ श रू होिी हैं और एक ही
हदशा में र्ात्रा करिी हैं। वे एक बबदं आर पर
लमलिे हैं जो कक Q. दरूी से परे है
a) 𝟏𝟐𝟔 𝒌𝒎 b) 𝟖𝟏 𝒌𝒎 c) 𝟒𝟖 𝒌𝒎 d) 𝟑𝟔 𝒌𝒎
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A person covers a certain distance with certain
speed if he increases his speed by 15 km/hr. Then
he will be 16 min. early. By how much time he will
be late if he reduces his speed by 12 km/hr, if his
initial speed is 60 km/hr.
एक व्र्जक्ि तनजचचि चाल से चलकर एक तनजचचि
दरूी िर् करिा है| र्हद वह अपनी चाल में 15
ककमी/घंटा की वदृ्धि करिा है िो वह 16 लमनट
पहले उस दरूी को िर् कर लेगा| र्हद वह अपनी
चाल में 12 ककमी/घंटा की कमी करिा है िो वह
ककिनी देरी से पह ंचगेा, र्हद उसकी वास्िववक चाल
60 ककमी / घंटा है|
a) 15 min b) 20 min
c) 25 min d) 24 min

7



8

A takes 8 hours more than the time taken
by B to cover a distance of 160 km. If A
doubles his speed, he takes 3 hours more
than B to cover the same distance. The
speed (in km/h) of B is:
A को 160 km की दरूी िर् करने में, B की
ि लना में 8 घंटे अधिक समर् लगिा है|
र्हद A अपनी चाल को दोग ना करिा है, िो
उसी दरूी को िर् करने में, उसे B की
ि लना में 3 घंटा अधिक समर् लगिा है| B
की चाल (km/h में) ज्ञाि करें)
a) 72 b) 70 c) 75 d) 80
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A takes 2 hours 30 minutes more than B to
walk 40 km. If A doubles his speed, then he
can make it in 1 hour less than B. What is the
average time taken by A and B to walk a 40 km
distance?
40km की द री िर् करने में A को B से 2 घंटा
30 लमनट अधिक समर् अधिक समर् लगिा
है| र्हद A अपनी चाल दोग नी िेज़ कर देिा है
िो उसे B से 1 घंटा कम समर् लग सकिा है|
A और B द्वारा 40km की द री डे करने में
लगने वाला औसि समर् ( घंटे में ) ज्ञाि करें|
a) 7 hours 15 minutes b) 5 hours 45 minutes
c) 6 hours d) 5 hours 15 minutes

SSC CPO, 25 Nov 2020, S1
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Mohan takes 2 hours more than Kishore to
walk 63 km. If Mohan increases his speed by
𝟓𝟎%, then he can make it in 1 hour less than
Kishore. How much time does Kishore take to
walk 63 km?
मोहन को 63 km की दरूी िर् करने में, ककशोर
से 2 घंटा अधिक समर् लगिा है| र्हद मोहन
अपनी चाल में 𝟓𝟎% की वदृ्धि करिा है, िो
वह इस दरूी को ककशोर से 1 घंटे कम समर्
में िर् कर सकिा है| 63 km की दरूी िर्
करने में, ककशोर को ककिना समर् लगेगा?
a) 7 hours b) 9 hours
c) 6 hours d) 5 hours

SSC CHSL 2020
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Two person P & Q start walking simultaneously
from A toward B. Distance between A and B is 100
km. Speed of P is 26 km/h and speed of Q is 54
km/h. After reaching at B person Q returns
immediately towards A and on the way person Q
meets person P at the distance of 𝑿 km from B.
Find the value of 𝑿?
दो लोग P और Q एक साथ बबन्द A से बबन्द B की
ओर चलना आरम्भ करिे है। A और B के बीच की
दरूी 100 ककमी है। P की चाल 26 ककमी/घटंा िथा Q
की चाल 54 ककमी/घटंा है। Q, B पर पह ंचकर, वापस
चलिा है और P को B से X ककमी की दरूी पर
लमलिा है िो X का मान क्र्ा होगा ?
a) 25 b) 35 c) 20 d) 45
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A bus moves from station A towards station
B, which is at distance of 189 km. An hour
later, a car, the ratio of whose speed with
the bus is 𝟑 ∶ 𝟐, starts from station A and
moves towards station B. Find the speed of
the bus (in km/h), if the car arrives at
station B half an hour earlier than the bus.
कोई बस, स्टेशन A से स्टेशन B की ओर
चलिी है, जो 189 km की दरूी पर है| एक
घंटे बाद, कोई कार, जजसकी चाल और बस
की चाल का अन पाि 𝟑 ∶ 𝟐 है, स्टेशन A से
स्टेशन B की ओर चलना श रू करिी है| बस
की चाल (km/h में) ज्ञाि करें, र्हद कार, बस
से आिे घंटे पहले स्टेशन B पर पह ुँचिी है|
a) 41 b) 𝟑𝟕. 𝟖
c) 42 d) 63
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Four boys A, B, C and D are standing at four
corners of a square track. They started running
along the track in clock wise direction with
speeds in the ratio 𝟏 ∶ 𝟐 ∶ 𝟑 ∶ 𝟒. By the time B
completes one round to reach the same corner as
he was before, how many of the remaining three
reach the same corners where they were
standing before?
चार लड़के A, B, C और Dककसी वगााकार ट्रक के
चारो कोनो पर खड़े है| वे चारो क्रमश: अन पाि 𝟏 ∶
𝟐 ∶ 𝟑 ∶ 𝟒 की गति से घड़ी की स ई की हदशा में
भागना श रू करिे है| जजिने समर् में B एक
चक्कर परूा करके वावपस से अपने कोने में पह चिा
है, उिने समर् में बाकक िीनो लडको में से ककिने
लड़के वावपस अपने कोने पर पह ुँच जार्ेंगे?
a) 𝟎 b) 𝟏 c) 𝟐 d) 𝟑

A B

D C
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Two friend A and B are standing at one corner
of a rectangular ground. By the time A runs
along the two adjacent sides of the rectangle
to reach the opposite corner, ‘B’ can reach
there along the diagonal path. If A is 𝟒𝟎%
faster than B, find the ratio of length and
breadth of that rectangular ground?
दो लमत्र ककसी आर्ािकर पाका में ककसी एक
कोने पर खड़े है| जजिने समर् में A तनकटविी
लम्बाई व चोड़ाई से होिा ह आ सामने वाले कोने
िक पह ुँचिा है, उिने ही समर् में B कणारेखा से
होिा ह आ सामने वाले कोने िक पह ुँचिा है|
अगर A की गति B की गति से 𝟒𝟎% जर्ादा है
िो उस पाका की लम्बाई व चोड़ाई का अन पाि
ज्ञाि करे?
a) 𝟑 ∶ 𝟐 b) 𝟒 ∶ 𝟑 c) 𝟓 ∶ 𝟒 d) 𝟔 ∶ 𝟓

A

B
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A jogging park has a circular track and a square
track enclosing the circle. The edges of the square
are tangential to the circle. Two friends, A and B,
start jogging simultaneously from the point where
the circular track touches the side of the square
track and completed a lap in same time. A jogs
along the square track, while B jogs along the
circular track . What is the ratio of the speeds of A
and B?
ककसी पाका में एक विृाकार टै्रक व एक वगााकार टै्रक
है| वगााकार टै्रक विृाकार टै्रक को इस िरह घेरे ह ए
है की उसकी भ जारे् विृाकार टै्रक को छूिे ह ए जािी
है| दो लमत्र A और B एक समर् पर उस बबदं से
भागना श रू करिे है जहा वगााकार टै्रक की भ जा
विृाकार टै्रक को छूिी है और समान समर् में
चक्कर पूरा करिे हैं| A वगााकार टै्रक पर भागिा है व
B विृाकार टै्रक पर भागिा है| दोनों की गतिर्ो का
अन पाि क्र्ा होगा?
a) 𝟐 ∶ 𝝅 b) 𝟒 ∶ 𝝅 c) 𝝅 ∶ 𝟐 d) 𝝅 ∶ 𝟒
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During his morning walk. Atul, walks for
45 minutes at a speed of 8 km/h and takes
15 rounds of a park. Shekhar takes 10
rounds of the same park in 40 minutes.
What is the speed of Shekhar in km/h?
स बह की सरै के दौरान, अि ल 8 km/h की
चाल से 45 लमनट चल चलिा है और एक
पाका के 15 चक्कर लगािा है। शखेर उसी
पाका में 10 चक्कर 40 लमनट में लगािा है।
km/h में शखेर की चाल ककिनी है?
a) 7.2 b) 6
c) 𝟔. 𝟕𝟓 d) 𝟕. 𝟓

SSC CHSL 2020



Amit takes 𝟐𝟎 minutes to drive from his home to
office. How much time Sumit takes to drive from his
home to office, if his speed is twice to that of Amit
and the distance between Amit’s home and office is
𝟐𝟓% less than the distance between Sumit’s home
and office?
अलमि को अपने घर से दफ्िर जाने में 𝟐𝟎 लमनट का
समर् लगिा है| पिा करे स लमि को अपने घर से
दफ्िर जाने में ककिना समर् लगेगा अगर उसकी गति
अलमि की गति से दोग ना हो व अलमि के घर से
दफ्िर की दरूी स लमि के घर से दफ्िर की दरूी से
𝟐𝟓% कम हो?
a) 𝟕. 𝟓 min b) 𝟏𝟎 min c) 𝟏𝟑. 𝟑𝟑 min d) 𝟑𝟑 min
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A boy runs 𝟐𝟎 𝒌𝒎 in 𝟐. 𝟓 hours. How long
will he take to run 𝟑𝟐 𝒌𝒎 at double the
previous speed?
एक लड़का 𝟐. 𝟓 घंटे में 𝟐𝟎 ककमी दौड़िा है।
वपछली गति को दोग ना करने में उसे 𝟑𝟐
ककमी चलने में ककिना समर् लगेगा?
a) 𝟐 hours b) 𝟐

𝟏

𝟐
hours

c) 𝟒
𝟏

𝟐
hours d) 𝟓 hours

18


	Untitled Section
	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18


